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import numpy as np

import pandas as pd

import matplotlib.pyplot as plt
from scipy import stats

WDEDIDDSA TS IICHNZ T, SciPy ST SYUICEENDHREEED) W o —Z%5mHHAA TIED D,
FEDDCHEDSHERZTEL.

X = stats.xxxx()

DESRERTEATEDS, xxxx (CEIDADEIR, () (FINSA—FDERKEREDATS 3> %EELAT D,

1. ZIE5>* B(n, p)

n, p=15 0.3
X = stats.binom(n, p)

INSA—FZBELT, ZIRDMICRSHERET LML T X LHLV.

t EESHTD—E
X = np.arange (0, n+1)
X. pmf (x)

array ([4. 74756151e-03, 3.05200383e-02, 9.15601148e-02, 1.70040213e-01,
2.18623131e-01, 2.06130381e-01, 1.47235986e-01, 8.11300333e-02,
3.47700143e-02, 1.15900048e-02, 2.98028694e-03, 5.80575378e-04,
8.29393397e-05, 8.20279184e-06, 5.02211745e-07, 1.43489070e-08])
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EREHE
X.pmf() BI#E AL\ CHREHET S

# 4 FEERIGTE PX=2)
X. pmf (2)

0.0915601148346156

# Gl FIFELEESAO—MERYET, $PX=2), PX=3), P(X=4)$
X = np.arange (0, n+1)
X. pmf (x) [2:5]

array ([0.09156011, 0.17004021, 0.21862313])

il FEERFGE P2 = X <H)S$
X = np.arange (0, n+1)
X. pmf (x) [2:5]. sum()

0. 4802234594386968

MEtEDHE
X DFME. HE. BEREERRLTHIS.

X.mean(), X.var(), X std()

(4.5, 3.15, 1.7748239349298849)

HER Do DHIE



In [8]: x = np.arange(0, n+1)
plt.bar (x, X.pmf(x), width=1, color="blue’, ec="k')
plt.plot(x, X.pmf(x), color="red )

Out[8]: [<matplotlib. lines.Line2D at 0x17748664a90>]
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In [9]: # HEHD—F
X = np.arange (0, n+1)
X. cdf (x)

Out[9]: array([0.00474756, 0.0352676 , 0.12682771, 0.29686793, 0.51549106
0.72162144, 0.86885743, 0.94998746, 0.98475747, 0.99634748
0.999327717, 0.99990834, 0.99999128, 0.99999948, 0.99999999
1. D
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In [10]:

Out[10]:

In [11]:

Qut[11]:

Fx)=P(X<x)=P(X =0)+ P(X = D+...+P(X = x)

[CEDUT., B X.pmf(np.arange(0,n+1)) DRI\FNZETE L TE XL,

# 2 AEEE NumPy 7L 4 X.pmf(x) CTEERBEBNZHE
X. pmf (hp. arange (0, n+1)). cumsum()

array ([0. 00474756, 0.0352676 , 0.12682771, 0.29686793, 0.51549106
0.72162144, 0.86885743, 0.94998746, 0.98475747, 0.99634748,
0.999327717, 0.99990834, 0.99999128, 0.99999948, 0.99999999,
1. D

i HmBEROEE

X = np.arange (0, n+1)

plt.bar (x, X.cdf(x), width=1, ec="black’)
plt.plot(x, X.cdf(x), color="red")

[Kmatplotlib. lines.Line2D at 0x1774877f370>]
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2. IRV > Po(A)



In [12]: lam = 3.4
Y = stats. poisson(lam)

ET= DR
In [13]: Y.mean(), Y.var(), Y.std()

Out[13]: (3.4, 3.4, 1.8439088914585775)

MYV DMDER P(Y = k) (FERED k (CHUTEFDCH. BBk ZREITDIHENDD, Tl —HlELT.
np.arange(0, 16)

(CLD>Tk=0~15[CRELTHD,

In [14]: # BEENH
y = np.arange (0, 16)
plt.bar(y, Y.pmf(y), width=1, ec="k’, color="blue")
plt.plot(y, Y.pmf(y), color="red)

Out[14]: [<matplotlib. lines.Line2D at 0x177487d9c40>]
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In [15]: # BRENMEHK
plt.bar (y, Y.pmf(y).cumsum(), width=1, ec="black’)
plt.plot(y, Y.pmf(y).cumsum(), color="red )

Out[15]: [<matplotlib. lines.Line2D at Ox17748892f40>]
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In [16]:

Out[16]:

p =80, 0.1

= stats.binom(n, p)
= stats. poisson (n*p)
= np. arange (0, 21)

plt.plot(x, X.pmf(x), color="red , label="Binomial’)
plt.plot(x, Y.pmf(x), color="blue', label="Poisson’)
plt. xticks (np. arange (0, 21, 5))

plt. legend ()

<matplotlib. legend. Legend at Ox177473¢c7f10>
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3. {91 Ge(p)

DT (C(F2DDREND B
1) YD THRINT BETICEULRTEER (RHLERTESEH3) :PT =k =1 -p~lp, k=1,2,....
2) D THINT BECTICELEKHDEE : PT=k) = -pFp, k=0,1,2, ...

ER(F geom(p) NEARTHD. T IAILNEL) THD. 2) (FAT>3a>Z[F1FT geom(p, loc=-1) £ T 3,

In [17]: p=0.4
Z=stats. geom (p)



In [18]: # HEENT
z = np.arange (1, 16)
plt.bar(z, Z.pmf(z), width=1, ec="k’, color="blue’)
plt.plot(z, Z.pmf(z), color="red")
plt. xticks (np. arange (0, 16, 5))

Out[18]: ([<matplotlib.axis.XTick at 0x17748978eb0>,
<matplotlib. axis. XTick at 0x17748978e80>,
<matplotlib. axis. XTick at 0x1774896da00>,
<matplotlib.axis.XTick at 0x177489c96a0>]
[Text(0, 0, "), Text(0, 0, "), Text(0, 0, "'), Text(0, 0, "')1)
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In [19]: Z.mean()

Out[19]: 2.5



In [20]: # #EA%K
plt.bar (z, Z.pmf(z).cumsum(), width=1, ec="black’)
plt.plot(z, Z.pmf(z).cumsum(), color="red )
plt. xticks (np. arange (0, 21, 5))

Out[20]: ([<matplotlib.axis.XTick at 0x177489f9460>,
<matplotlib. axis. XTick at 0x177489f9430>,
<matplotlib. axis. XTick at 0x177489f1f70>,
<matplotlib.axis. XTick at 0x17748a44bb0>,
<matplotlib.axis. XTick at 0x17748a447f0>]

[Text(0, 0, "),
Text(0, 0, '),
Text(0, 0, '),
Text(0, 0, '),
Text(0, 0, "")1)
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